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Prototype O6PbV2

AFLOW prototype label A6BC2 oP36 62 6c c 2c-001

ICSD 6109

Pearson symbol oP36

Space group number 62

Space group symbol Pnma

AFLOW prototype command aflow --proto=A6BC2_oP36_62_6c_c_2c-001

--params=a, b/a, c/a, x1, z1, x2, z2, x3, z3, x4, z4, x5, z5, x6, z6, x7, z7, x8, z8, x9, z9

Other compounds with this structure
BaV2O6, CdV2O6, CaV2O6, SrV2O6, MnSeTeO6

• This is the ground state structure of PbV2O6, stable up to 490◦C. (Villars, 2018) There is also a metastable monoclinic
structure.
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Simple Orthorhombic primitive vectors

a1 = a x̂

a2 = b ŷ

a3 = c ẑ

Basis vectors

Lattice
coordinates

Cartesian
coordinates

Wyckoff
position

Atom
type
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4b ŷ − cz4 ẑ (4c) O IV

B16 =
(
x4 + 1

2

)
a1 + 1

4 a2 −
(
z4 − 1

2

)
a3 = a

(
x4 + 1

2

)
x̂ + 1

4b ŷ − c
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4b ŷ − cz5 ẑ (4c) O V

B20 =
(
x5 + 1

2

)
a1 + 1

4 a2 −
(
z5 − 1

2

)
a3 = a

(
x5 + 1

2

)
x̂ + 1

4b ŷ − c
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4 a2 + z7 a3 = ax7 x̂ + 1

4b ŷ + cz7 ẑ (4c) Pb I
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4b ŷ + cz8 ẑ (4c) V I

B30 = −
(
x8 − 1

2

)
a1 + 3

4 a2 +(
z8 + 1

2

)
a3

= −a
(
x8 − 1

2

)
x̂ + 3

4b ŷ + c
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